S LS
M MUHAARY
Chel: MYASA (prl:m2)
SA - B SRI(BH) - MRAR - BAS Ofl &t e HIREY
HLHX 2 ot 3,237,638 5,339,943 A2,102,305
= 1,426,700
S 372,940
= 1,437,998
Hegag=sd 3,229,688 5,332,643 A2,102,9%5
= 1,426,700
S 372,940
= 1,430,048
HLHFRY 2,419,660 1,758,880 660,780
= 1,339,700
= 367,940
o 722,020
dUESd 28,260 21,680 6,580
201 Er2E| 17,060 10,480 6,580
01 Ar2teltl 3,280 2,800 480
NAREE & 225 7Y
70,0002 122 840
NELESY RFE HAH|
8,0002 x4 +502] 1,600
NSBIIEEI| dxt= 35,0002 *2CH* 122 840
2 35224l 13,780 7,680 6.100
NEY RELERS 100,000 * 12 1,200
NELAMAANE SRS
180,000 *3H Ax 12 6,480
NS MEE |2
6.,100,000& 6,100
202 OdH| 11,200 11,200
01 =LHOHI 11,200 11,200
DALY P22 UHOIY
50,0008 x4 +562] 11,200
SHHIE T (2X) 1,122,000 1,260,000 138,000
= 935,000
= 187,000
307 2iztol 1,122,000 1,260,000 138,000
= 935,000
= 187,000
02 QIZHBHAEE R 1,122,000 1,260,000 A138,000
1) S HHHE THOH 1,122,000,000& 1,122,000
= 935,000
s 187,000
HEXUSSIIHXF(EX) 398,000 120,000 278,000
= 199,000
= 39,800
i 189,200
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402 Q12201 A 398,000 120,000 278,000
= 199,000
& 39,800
= 159,200
02 QIZIXH2AIS 2 = (0| M T ) 398,000 120,000 278,000
NG XS H NI 398,000,000 398,000
= 199,000
& 39,800
= 159,200
HSUTIDIXR(EX) 220,400 180,000 40,400
= 110,200
< 22,040
= 88,160
402 SIREX=01N 220,400 180,000 40,400
= 110,200
= 22,040
= 88,160
02 QIZEXH2AIE E R (0| TR ) 220,400 180,000 40,400
NESHIDIXI 220,400,000 220,400
= 110,200
& 22,040
= 88,160
deESLX2 10,000 5,000 5,000
401 Al&HIZ 2 CHY] 0,000 5,000 5,000
01 A& 10,000 5,000 5,000
DALY BRI SX A
10,000,000 10,000
HEF =S 2AEX(EX) 63,000 21,000 42,000
= 31,500
& 6,300
= 25,200
402 QI2EX =01 ™ 63,000 21,000 42,000
= 31,500
& 6,300
= 25,200
02 QIZIXIE2AIE EE(O|MTHSA) 63,000 21,000 42,000
NE&EFi+-=202 &X 63,000,000& 63,000
= 31,500
T 6,300
i 25,200
F+E2HHSHFRNSSAIAS XA (EX) 106,000 105,000 1,000
= 53,000
T 10,600
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Xy ZH -
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ool

HL SN2t
HEFMEFH
LS AL

S - BB CRI(S) - NIRAY - BaS 01l bt e HIm =2t
HLSAIE 554,288 3,145,563 A2,591,275
& 15,000
i 539,288
ML SAIE 4,283 4,648 A360
201 LBer249H| 1,288 1,648 A360
01 At 22l 1,288 1,648 A360
DAIREE 2 4A2S 7g
70,0003 * 123 840
NELIAIE AR DA
8,000& x 18 +563| 448
202 o4 3,000 3,000
01 =UOdbI 3,000 3,000
NELSEAE JRFX 2L
50,0002 =1 *603] 3,000
HEIZXEEHAE(EX) 50,000 50,000 0
= 15,000
= 35,000
401 AIEHIZL 208 50,000 50,000 0
& 15,000
= 35,000
01 AlEHI 50,000 50,000 0
NEE22 X HAIA 50,000,000 50,000
T 15,000
= 35,000
HUEFHAL 500,000 0 500,000
401 AIEBIZ 208 500,000 500,000
01 AlEHI 500,000 500,000
Nsxd2 RSAME HIxEY
500,000,000& 500,000
HYSHHH (ML SXIADL) 7,950 7,300 650
=244 7,950 7,300 650
J|=2Z&| 7,950 7,300 650
201 LBr249h| 1,350 1,600 A250
01 At 22| 1,350 1,600 A250
NEASE AIR22I] 150,000& »9H 1,350
202 Ot 3,600 3,600
01 =04 3,600 3,600
NEM2ZE LRFX 20|
50,0003 *8H +83| 3,200
N3R8 A2 =0
50,0003 *1H +83| 400
203 R F&IY| 3,000 2,100 900
M A2 RFAHI 3,000 2,100 900
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